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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

o Please check that this question paper contains 34 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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(iii)  @UE 3 H TH-U 37% Tl 8 J7 8, 5 qg-fascd] F7 8/ @Ue 7§
6 F97 8 1979 @ J4% 2 31 HT1 81 @US T 7 10 37 diA—~FT A & 8 /

&GUE 7 10 357 & 979 @ T 4 3% F1 8 |
(iv)  FeTpciet B FI1T A 8 1
General Instructions :
(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections —
A, B, C and D.

(iii)  Section A contains 8 questions of 1 mark each, which are multiple
choice type questions, Section B contains 6 questions of 2 marks each,
Section C contains 10 questions of 3 marks each and Section D
contains 10 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qus A

Section A

JoT &I 1 G 8 T%F A% I3 1 3% FT & | Y97 &7 | & 8§ § J9% ¥97 & 78 a}
3%y f20 7 8, o7 @ 3ecr v T8t & | T8 faweq giu)

Question numbers 1 to 8 carry 1 mark each. For each of these questions four
alternative choices have been provided of which only one is correct. Select the correct

choice.

1. U TH At % JoH o e, U 3y — 1, 3y + 5AA Sy + 18, A y AR R ¢

A) -3 (B) 4
<€ 5 D) 2
The first three terms of an AP respectively are 3y — 1, 3y + 5 and 5y + 1. Then
y equals :
A) -3 B) 4
© 5 D) 2

30/1/1 2
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2. 3 1 #, QR fou M o i uh 3wafE wt Yan ¥ | 99w fog T W e
Fd 2 | forg T fi=h 7 woef Y@ QR 1 fiig P firereht & 1 3f PT = 3.8 9t 2,

dl QR I warg (T H) =

Q P R
(A) 38 (B) 7.6
€ 57 D) 1.9

In Fig. 1, QR is a common tangent to the given circles, touching externally at
the point T. The tangent at T meets QR at P. If PT = 3.8 cm, then the length of
QR (incm) is :

Q P R
(A) 3.8 (B) 7.6
© 57 (D) 1.9
30/1/1 3 [P.T.O.
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3. 3T(d 2 §, PQ YT PR g O 9Tl g sl &1 T3l W@ & | I LQPR=46° ¥, I

ZQORFIHER :
(A)  67° (B) 134°
(C) 44° (D)  46°

In Fig. 2, PQ and PR are two tangents to a circle with centre O. If ZQPR=46°,
then ZQOR equals :

(A) 67° (B) 134°

(C) 44° (D) 46°

30/1/1 4
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4.

30/1/1

Pl ease Visit ww. ncerthel p.com For Video |ectures of all

TS GG ol AR o A9 GST i T, I8 fH & A1 60° Tl IV 471 © | IS €l
1 UTaforg R § 2 Hi A g W 2, q Wi hit g (A H) 7

4
(A) NE] (B) 43

©) 242 (D) 4

A ladder makes an angle of 60° with the ground when placed against a wall. If
the foot of the ladder is 2 m away from the wall, then the length of the ladder

(in meters) is :

4

A — B 4+/3
(A) 7 (B) 43
© 22 (D) 4

Ife & fra-fie ol il U Y 3T S, A S I W OEHEEAT o 3T H
‘SIT&IERIT%:

(A) (B)

(©) (D)

A= W
O\"—‘
A~ D=

If two different dice are rolled together, the probability of getting an even

number on both dice, is :

1

(A) 36

(B)

D | =

(®) (D)

A=
N

5 [P.T.O.
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6.  HEATSAT 1 9 30 H U AG<AT Tk H&AT AT TS | 39 TEAT o Teh AN T&AT o &IH

EARIPETIRE
2 1
(A) 3 (B) 5
1 11
- D -
©) 3 (D) 30

A number is selected at random from the numbers 1 to 30. The probability that

it is a prime number is :

2 1
@) 3 ® -

1 11
© 3 D) 35

7. ARG Ax, 2), B(=3, —4) @M C(7,-5) G2, AxFAF R :
(A) -063 (B) 63
©) 60 (D) -60

If the points A(x, 2), B(—3, —4) and C(7, — 5) are collinear, then the value of x

is :
(A) -63 (B) 63

© 60 (D) -60

30/1/1 6
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8. ST 45 Gl a1 A 4 FHY ATeT €1 % Teh 3 S i TUEa R 6 THi =A™ AT
34 TS ST T | T <l T ©

A 3 (B) 5
< 4 (D) 6

The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm, is :
A) 3 B) 5

© 4 D) 6
us d
Section B

J97 G&IT 9 G 14 T JAF J97 & 2 3% &/

Question numbers 9 to 14 carry 2 marks each.

9. Teoma afier o 202 + ax — 2 = 0 Hl x %%’Q%ﬁﬁﬁ?l

Solve the quadratic equation 2x” + ax — a” = 0 for x.

10. T AT Ui o1 ToH U 5 9T AfaH 92 45 2 | Ife 39 2oft o g+ gl <1 I 400
2, 1 3Heh! FraeTdt F1d <hifer |

The first and the last terms of an AP are 5 and 45 respectively. If the sum of all

its terms is 400, find its common difference.

30/1/1 7 [P.T.O.
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11.  fag ifSre fo g ot 31 mraT wost T@redt o st forgedt i e aret Werave I
o hg © TR ST ¢ |

Prove that the line segment joining the points of contact of two parallel

tangents of a circle, passes through its centre.

12. e shg O At weh g W et smer foig P & &1 Toef {@md PQ dem PR 39 YR Wi
STé fo ZQPR = 120° &1, at frg At f6 2PQ = PO ? |

If from an external point P of a circle with centre O, two tangents PQ and PR

are drawn such that ZQPR = 120°, prove that 2PQ = PO.

13. ©H < fw-fie foeenl =l T 919 3BT 2 | FH 9 T Tk 92 A hl TTRiehdl
1 ST |

Rahim tosses two different coins simultaneously. Find the probability of

getting at least one tail.

14. STHd 3 H, Th g9 & =qAf¥ OPBQ & 3iHld a1 Uk o OABC ® | 3G
OA =20 Tl 2, d SIHifehd SN 3T &A% J1d ST | (n = 3.14 )

Q

30/1/1 8
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In Fig. 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If
OA =20 cm, find the area of the shaded region. (Use m = 3.14)

Q
C B
o) A P
«us 9
Section C

JoT GE&IT 15 8 24 T 9% G4 3 3 31 8/

Question numbers 15 to 24 carry 3 marks each.

15. wﬂa?mf—ﬁ > ;x;eo,—%,aﬁxéﬁ%fqgaaﬁﬁql

X 2x+3
Solve the equation i—3 = i;x # O,—é , for x.
X 2x+3 2

16. afd T TuTR Avft T AT IS é %wmﬁﬁqﬂ%%,aﬁm 634l Ug J1d

HINT |

If the seventh term of an AP is é and its ninth term is %, find its 63" term.

30/1/1 9 [P.T.O.
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17. U gkl 3ys ABC Hifae fsw AB = 6 @i, BC = 8 @t @2 B = 90° 2 |
B § AC W @« BD @ifaw au1 fogati B, C 991 D &It ST a1l g4 @itat | foig
A T 39 I WS @t it AT i |

Draw a right triangle ABC in which AB = 6 cm, BC = 8 cm and £ZB = 90°.
Draw BD perpendicular from B on AC and draw a circle passing through the

points B, C and D. Construct tangents from A to this circle.

18.  afs &g A(0, 2), foigadt B(3, p) @91 C(p, 5) T THEY B, @1 p ol HH J1d hIfST |
AB &l T8 oft 91a it |

If the point A(O, 2) is equidistant from the points B(3, p) and C(p, 5), find p.
Also find the length of AB.

19. UH YHE-LET o gHT IR &l Sfers ot H 39 YR feya € T g Sters qen
TERTIT-EART T 1 3@T A B | TohreT-Tar o 3R & 1 STeTsii o A0 HIvT 60°
T 45° 2 | Afe TeRRI-Tard i g 200 Hi 7 @ S SieTsi < s bl gl 7
AN | [3 = 1.73 ST

Two ships are there in the sea on either side of a light house in such a way that
the ships and the light house are in the same straight line. The angles of
depression of two ships as observed from the top of the light house are 60° and
45°. If the height of the light house is 200 m, find the distance between the two
ships. [Use /3 = 1.73]

30/1/1 10
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20. 3Iffog A(=2, 1), B(a, b) @ C(4,—1) REN 2 qMa— b =18 A a T b o IH
ST TS |

If the points A(-2, 1), B(a, b) and C(4,—1) are collinear and a — b = 1, find the

values of a and b.

21.  ATHIA 4 H, 12 HH ST ATl T GHATE BYS ABC & SI@d T ga @i T @
&t g O B | ord:ga A Brsen @ ST qon SMifRa 9 1 &Fhd F1d
FINT | [ 7= 3.14 T 3= 1.73 fifST |

In Fig 4, a circle is inscribed in an equilateral triangle ABC of side 12 cm. Find

the radius of inscribed circle and the area of the shaded region. [Use m = 3.14

and 3= 1.73]

30/1/1 11 [P.T.O.
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22. ITH 5 H, PSR, RTQ 91 PAQ T 1daq S
8, % = wHe: 10 o, 3 9 den
7 Gt 2 | SR 9T s AT J1a hifs |
[7 = 3.14 T

T

In Fig.5, PSR, RTQ and PAQ are three

semicircles of diameters 10 cm, 3 cm and

7 cm respectively. Find the perimeter of the P 7cm Q\w R
shaded region. [Use m = 3.14]

T

23. U foRE™ 3709 Wa § 10 H @ dredt 3R 2 H) T2l Toh SRR Shl Skl SATdieh
TG 20 IH 9T Tk U129 10 A § Siear ? | Ife grgw § i 4 fedt uf wer i
I T T =, a1 foha 9w | 2ol [ ) STt ?

A farmer connects a pipe of internal diameter 20 cm from a canal into a
cylindrical tank which is 10 m in diameter and 2 m deep. If the water flows
through the pipe at the rate of 4 km per hour, in how much time will the tank be

filled completely ?

30/1/1 12
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24. 20 9 F=E 3R 60° IR AT T 3G GG ok AT W BT 3T HATE
- & It STd Tk a1 91 H hiel T & Selfeh acl % oh TR h

w2 | 4 T Wi o w éﬁﬁmmﬁ@m%mﬁ@ﬁmwé,
T 1 i T B |

A solid metallic right circular cone 20 cm high and whose vertical angle is 60°,
is cut into two parts at the middle of its height by a plane parallel to its base. If

) ) . ) 1 )
the frustum so obtained be drawn into a wire of diameter E cm, find the

length of the wire.
@ ug §

Section D
T97 GEIT 25 8 34 T% JF G377 & 4 3FH & |

Question numbers 25 to 34 carry 4 marks each.

25. 21 ST TEE B S S B A S el % 2 | s 3T Hif

The difference of two natural numbers is 5 and the difference of their

reciprocals is % . Find the numbers.

26. fag s 6 foreht smer foig & g o it 18 Tt Waneti i ergat sk 2l € |

Prove that the length of the tangents drawn from an external point to a circle

are equal.

30/1/1 13 [P.T.O.
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27. U 60 H S fofeen & firer @ we #AR & fIrgw 9on ure & 3994 a9 799
I AT 30° 91 60° B | fafeen qen fiar i S=meai 1 37aw qen 39 o=
it 91 i |

The angles of elevation and depression of the top and the bottom of a tower
from the top of a building, 60 m high, are 30° and 60° respectively. Find the
difference between the heights of the building and the tower and the distance

between them.

28. U O H HE 8, N9 W 1 A 49 I il T Afhd B | 37 FISt ol =3 TR
TorerTeRt, 378 | TG Ush H1E fHehTar T | TRkt T shifere foh fehret e T

R 3fohd T
() U oo o B (i) SHIUST
(i) e ot ot wEAT ® (iv) Toh 99 319T G&I1 2

A bag contains cards numbered from 1 to 49. A card is drawn from the bag at
random, after mixing the cards thoroughly. Find the probability that the number

on the drawn card is :
1) an odd number (1))  amultiple of 5

(ili)  a perfect square (iv)  an even prime number

29. g P(x, 2), fogani A(12, 5) a1 B(4,— 3) &I firaH aret Tam@ve =i fohg erquma §
ST ® | x 1 A o 31d hifsre |

Find the ratio in which the point P(x, 2) divides the line segment joining the

points A(12, 5) and B(4,— 3). Also find the value of x.

30/1/1 14
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30. k' 9 9 F1d hifeTe ek foru fgoma Tetertor (k + 4)x° + (k+ 1) x+1 = 0 %
T € | 98 A off Jrd it |

Find the values of k for which the quadratic equation (k + Hx* + (k+ 1) x+1=0

has equal roots. Also find these roots.

31. 50 U<l shl Ueh HHTGL AU & YUH 10 UaT 1 I 210 qAT A9 15 9&I ol I
2565 2 | Fft 31 IS |

In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its last 15

terms is 2565. Find the A.P.

32. fag ifSm 56 99 o afera 591 v Twiat wIqS THegs ST R |

Prove that a parallelogram circumscribing a circle is a rhombus.

33. YN % UM HW Y YAl 3¢ TF % ATHRR I Tk - & FEehl S=mg 11 Tt e
S0 TGt ot B 2.5 Tt B | 9 o6 O] @ QU 90 geT 3 | $@ A | 0.5 |l

STE o1 91q ol TATRR Tl STl T8 99 S o a1 % |7 ST AT TR |

F1d AT ok 38 a1 & forat Miferat ereft 7€ | gena 3 v ey fohan 6 s &
Trenatt art wftem et i ST Rt HiE Hok | GEITA 3 39 HE 9 R qoF i veeH
feRa ?

Sushant has a vessel, of the form of an inverted cone, open at the top, of height
11 cm and radius of top as 2.5 cm and is full of water. Metallic spherical balls

each of diameter 0.5 cm are put in the vessel due to which %th of the water in

30/1/1 15 [P.T.O.
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the vessel flows out. Find how many balls were put in the vessel. Sushant made
the arrangement so that the water that flows out irrigates the flower beds. What

value has been shown by Sushant ?

34, 915 2.8 UHY 3TN AW 4.2 At AT Ueh 31 ofeq § I 3T TS 3R 3} = e
T IEETRR @i HIE foran Srar 21 I s 3 1 qEiT SF%hd Jid I |

[n:%&ili\am

From a solid cylinder of height 2.8 cm and diameter 4.2 cm, a conical cavity of
the same height and same diameter is hollowed out. Find the total surface area

- : 2
of the remaining solid. [Take © =27]

30/1/1 16
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